CHAPTER 6 ANSWERS

PROBLEM SET 6-1AND 6-2

1. 2x° +9x? +5x + 27 ; polynomial of 4 terms
2. 80x*® —109x°* + 7x — 75 polynomial of 4 terms
3. 10a? —3ab +10; trinomial
4, 8x® + 2x?; binomial 5. b® —6b? +9b; trinomial
6. x* +2x% +1; trinomial 7. x® —6x? +12x —8; polynomial of 4 terms
8. X(X —6)(X + 6) 0. X(X + 4)?
1 1 1
10. 3X(x-8)(x -1 11. —X(X—==)(X+=
(x=8)(x-1) > ( 2)( 2)
12 x*-18x* +107x-210 13, x>+ x*-2x
14. — 3 (multiplicity of 3) 15. 1, 2 (multiplicity of 2)

16. — % , 1 (multiplicity of 2) 17. 0 (multiplicity of 2), — 1(multiplicity of 2)



PROBLEM SET 6-3

1. X2 —T7x+2

3. x—10+ﬂ

5. x> —x—6

7. X2 —3x+9
9. X2 —x2+1
11.  P@3)=0

13.  P(3)=168

15. If P(a) =0, then (x — a) is a factor of P(x)

16. No

17.

Yes

18.

10.

12.

14.

Yes

9x—12—£
x-1
x? +4x+3
3x* +8x-3
bx—2- 4
x-1
XP =22 = 2x 4 A= 2
X+2

P(-2) =12

P(-3)=0

19. No



PROBLEM SET 6-4

— 34+ 3
1 3, %‘*@ 2. —4,2+2i3
5, 5 —5%53 s 4 -2£243
2 3 3
s 1 -1iV3 s 1 1xiV3
' 2" 4 ' 2' 4
7. 3,-3,1,-1 8. 2,-2
9. 4, -4, 2i, - 2i 10.  +4/2, +i/6
11. -3,-2,2 12. 0,13
Positive Real Roots Negative Real Roots
13. 1 2 or none
14. 1 2 or none
15. 1 3orl
16. 1 1
17. 4, 2 or none 1
18. 2 or none 2 or none




PROBLEM SET 6-5

1. {£1,+2}1
2. {+1,+2,+4}; -1

3. {+1,+2,+4,+8 +16};-2

4, ii,il,il,il,il,ig,ig,iE,i
12 6 4 2 3 3 4 2

5 5, +i7

7 il,i3
2

9 4++6,-/3

11. 2—3i, —6i

13. X2 —x?+9x-9=0

15. x* —6x% +14x% - 24x+40=0

10.

12.

14.

16.

1-1i, 5i

4+i,2-4/2

x®—3x?>—-8x+30=0

x*—2x3 —x*+6x-6=0



PROBLEM SET 6-6

Number of Possible Number of Possible Rational Roots
Complex Roots Real Roots
1. 3 lor3 +1
2. 7 1,3,50r7 +1 +3
3. 10 0,2,4,6,80r10 +1
4. 4 0,2, 0r4 J_rl,J_r2,J_r13,126,J_rl,J_rE
2 2
c 1 1+i7 6 " 1+i4/3
4
7. £2,+42 5. 0 3t35
9. 4, +3 10, -p —1F
2
i
1. L 125 1o, 2 -l
2 5 6




